N of reco track vs dxy

tracks

10*

10°

10°

10

-
T

10 15 2

=20 -15-10 -5 0 5
track dxy (cm)

N of reco track vs dz

0

tracks

10*

10°

10%F -~

10

-10 0 10 20 3
track dz (cm)

0

N of associated (recoToSim) tracks vs dxy

true tracks

10*

10°

10?

10

R TS Yo ee oL new
em ateCut(‘PhrSguargNew7 ste) 9
|2 v v 0

b

N of associated (recoToSim) looper tracks vs dxy

0.

=20 -15-10 -5 0 5

[N of associated (recoToSim) tracks vs dz_]

true tracks

Ratio

=
Q
=~

=
S
w

=
o
S

10

Lol

0930 10 010 20 30

123 F 0
s r S
E B o]
= vy . =
) 10 E ©
s F 8 10
r =
10°F- 3
2 k-
10 10
10k~
[ 1
1
hasel-newgeol
C L.09 |2
. 1
N ¥ N 0.95) A h
10 15 20 0 20 -15-10 -5 0 5 10 15 20 O'—LO -15-10 -5 0 5 10 15 20
track dxy (cm) track dxy (cm) track dxy (cm)
| N of associated (recoToSim) looper tracks vs dz |
2] F 0
s r S
g 8
() Q
8 5
=
=3
o
g ] g :u:
o =3 14 H
iiE" A AN
°¥p 20 10 10 20 30 %520 -10 0 10 zo 30

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


